Why Switzerland makes watches	    			              LECTURE
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Watches, lace, carvings, chocolate, cheese, precision machinery, pharmaceuticals – what do they have in common? All are produced in Switzerland; all have a high value per kilo; the Swiss versions are known for their quality; and physical forces are primarily responsible for their being produced in Switzerland.
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To appreciate why this is so, consider the following:
(1) Switzerland is mostly mountainous, with little level land,
(2) it is close to the heavily populated lowlands of Western Europe, 
(3) transportation across the mountains to these markets is relatively inexpensive, and
(4) Switzerland has practically no mineral resources.
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One way to overcome the lack of local resources of raw materials and high transportation costs is to import small amounts of raw materials, add high value to them, and export a lightweight finished product. The Swiss have done exactly this with the manufacture of watches. They import small volumes of high-quality Swedish steel costing 40 cents per ounce that they then convert to watch movements selling for $60 per ounce. Because of their light weight, the cost of transporting these movements to market is minimal. 
Precision machinery and pharmaceuticals are other products that minimise the need for importing bulky raw materials. For all of these products, emphasis is placed on value added by manufacturing, which is based on skill, care and tradition.
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Although the Swiss slopes do not support much agriculture, they are adequate for raising cattle and goats. Production of milk is no problem, but getting it to its major markets outside Switzerland is. Fluid milk is bulky in relation to its value and expensive to transport. The dairymen do to the milk what the watchmakers do to the steel – convert it to a concentrated high-value product: cheese. Because Swiss cheesemakers have no advantage over their counterparts in the lowland dairying areas nearer to important markets, they have to compete on the basis of high quality and reputation, which they have carefully promoted.
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The plentiful supply of milk is responsible for another product: milk chocolate. The Swiss import the raw chocolate and convert the milk into another high-value-per-kilo product. Certainly the Swiss manufacturer pays higher transportation costs to bring sugar and chocolate in and ship the finished product out than does Hershey in Pennsylvania. Again, the Swiss product must be perceived to be superior so that it will bring a higher price to offset the greater costs.
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What about the lace and carvings? Physical forces are responsible for these also. The heavy snowfall and cold temperatures of the Swiss winter leave the dairymen and their wives with little to do. About the only work necessary is feeding the animals with stored hay. To help pass the time and earn some money, Swiss women make lace and embroidery while the men carve figures and cuckoo clocks.
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